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Mansoura University Civil Engineering Date:15 /1/2013
‘Faculty Of Engineering First Year Mech. Time: 1.5 Hour
Civil Eng. Dep. Final Exam(Open Book) Dr/ Abd el Aziz

Q1:§40%) Draw the Normal Force, Shear Force and Bending Moment Diagrams
for the shown beam in fig.( 1).

Qg:} (40%) For the shown frame in fig.( 2 ), Draw the Normal Force , Shear Force

and Bending Moment Diagrams.

sl
QQ: (20%) For the shown beam in fig, (3), Suggest thexdifferent ways for

setting the intermediate hinges in order to make the beam statically determinate.
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